Контрольный входной устный счёт в 5 классе
Сентябрь


                Вариант 1	
                                                                                              
	Пример
	Ответ

	36+54
	

	76+ 59
	

	67 + 135
	

	100 – 31
	

	124 – 33
	

	89 + 0
	

	9 × 6
	

	14 × 3
	

	19 × 5
	

	30 × 70
	

	420 × 10
	

	1200  : 100
	

	1000 × 18
	

	124 × 0
	

	0 : 8
	

	72 : 8
	

	42 : 7
	

	48 : 12
	

	75 : 15
	

	1800 : 20
	



          







      Вариант 2

	Пример
	Ответ

	78 + 22
	

	69 + 97
	

	47 + 165
	

	100 – 57
	

	114 – 87
	

	101 – 0
	

	7 × 9
	

	13 × 5
	

	16 × 3
	

	40 × 60
	

	3700 : 10
	

	10 × 530
	

	0 × 174
	

	0 : 9
	

	63 : 7
	

	48 : 6
	

	39 : 13
	

	45 : 15
	

	2400 : 40
	

	3800 : 100
	














Контрольный устный счёт в 5 классе

Октябрь
Вариант 1 (Уровень А)
	Пример
	Ответ

	176 + 59
	

	567 + 133
	

	100 – 31
	

	1413 – 38
	

	624 – 433
	

	3 × 18
	

	5 × 18
	

	25 × 4
	

	40 × 120
	

	50 × 200
	

	5200 : 10
	

	100 × 65
	

	24 × 1000
	

	1600 : 100
	

	0 : 82
	

	72 : 8
	

	243 : 3
	

	1000 : 5
	

	750 : 15
	

	480 : 160
	


  












Вариант 2 (Уровень А)
	Пример
	Ответ

	269 + 97
	

	437 + 163
	

	100 – 57
	

	1323 – 38
	

	614 – 283
	

	7 × 13
	

	14 × 5
	

	25 × 4
	

	30 × 130
	

	400 × 25
	

	46000 : 100
	

	520 × 100
	

	1000 × 21
	

	0 : 75
	

	63 : 9
	

	324 : 4
	

	1000 : 2
	

	900 : 15
	

	560 : 140
	

	4700 : 10
	













Вариант 1 (Уровень В)

	Пример
	Ответ

	1761 + 549
	

	5667 + 1433
	

	1100 -131
	

	1413 – 38
	

	6024 – 483
	

	6 × 17
	

	19 × 5
	

	125 × 4
	

	30 × 1800
	

	50 × 200
	

	9200 : 100
	

	147 × 1000
	

	1000 × 16
	

	25400 : 10
	

	0 : 782
	

	568 : 8
	

	201 : 3
	

	1000 : 8
	

	750 : 25
	

	4800 : 160
	














Вариант 2 (Уровень В)

	Пример
	Ответ

	2584 + 816
	

	6437 + 1563
	

	1000 – 478
	

	1613 – 29
	

	7104 – 372
	

	6 × 14
	

	17 × 5
	

	25 × 8
	

	40 × 160
	

	40 × 250
	

	68 000 : 100
	

	52300 : 100
	

	1000 × 81
	

	0 : 459
	

	567 : 7
	

	304 : 4
	

	1000 : 4
	

	 9000 : 15
	

	5600 : 140
	

	43100 : 10
	













Контрольный устный счёт в 5 классе
Февраль
Вариант 1 (Уровень А)
	Пример
	Ответ

	78 + 22
	

	54 – 7
	

	100 – 75
	

	125 – 17
	

	600 : 10
	

	73 × 100
	

	0 ×18
	

	 + 
	

	 + 
	

	 + 
	

	7 × 9
	

	50 × 8
	

	11 × 9
	

	25 × 4
	

	100 : 25
	

	48 : 4
	

	2100 : 70
	

	1 - 
	

	2 - 
	

	 + 
	













Вариант 2 (Уровень А)
	Пример
	Ответ

	83 + 17
	

	45 – 9
	

	100 – 47
	

	285 – 39
	

	76 × 100
	

	700 : 10
	

	0 × 37
	

	 + 
	

	 + 
	

	 + 
	

	6 × 8
	

	30 × 9
	

	12 × 7
	

	125× 8
	

	200 :40
	

	63 : 3
	

	2400 : 30
	

	1 - 
	

	2 - 
	

	 + 
	











Вариант 1 (Уровень В)
	Пример
	Ответ

	76 + 344
	

	56 – 39
	

	1000 – 443
	

	125 -67
	

	452 × 100
	

	32000 : 1000
	

	621 : 1
	

	 + 
	

	 + 
	

	 + 
	

	8 × 70
	

	19 × 5
	

	13 × 6
	

	125 × 4
	

	600 : 25
	

	84 : 3
	

	9600 : 60
	

	1 - 
	

	2 - 
	

	4 - 
	













Вариант 2 (Уровень В)
	Пример
	Ответ

	78 + 322
	

	64 – 37
	

	1000 – 448
	

	115 -76
	

	527 × 100
	

	51000 : 1000
	

	217 : 1
	

	 + 
	

	 + 
	

	 + 
	

	9 × 70
	

	16 × 5
	

	19 × 7
	

	125 × 4
	

	300 : 25
	

	68 : 4
	

	9100 : 70
	

	1 - 
	

	3 - 
	

	5 - 
	














Контрольный устный счёт в 5 классе
Апрель
Вариант 1 (Уровень А)
	Пример
	Ответ

	500 : 25
	

	3600 : 60
	

	70 × 110
	

	103 – 53
	

	1000 -332
	

	12,3 + 4,7
	

	11,6 – 0,8
	

	6,5 – 1, 27
	

	 + 
	

	 +1 
	

	0,4 × 50
	

	600× 0,01
	

	1,3 × 0,6
	

	0,25 × 4
	

	12,3 : 3
	

	0,77 : 7
	

	2,7 : 0,03
	

	0,39 : 1,3
	

	2 - 
	

	5 - 
	














Вариант 2 (Уровень А)
	Пример
	Ответ

	750 : 25
	

	120 : 60
	

	60 × 110
	

	108 – 56
	

	1000 - 432
	

	12,2 + 4,8
	

	11,6 – 0,8
	

	4,5 – 3, 25
	

	 + 
	

	 +1 
	

	0,6 × 50
	

	400× 0,01
	

	1,4 × 0,3
	

	0,25 × 4
	

	16,4 : 4
	

	0,84 : 6
	

	2,4 : 0,04
	

	0,52 : 1,3
	

	3 - 
	

	6 - 
	














Вариант 1 (Уровень В)
	Пример
	Ответ

	1200 : 60
	

	9600 : 600
	

	70 × 120
	

	1073 – 534
	

	1002 -223
	

	12,3 + 3,74
	

	13,6 – 8,8
	

	34,5 – 8, 29
	

	 + 
	

	 +1 
	

	4,1 × 300
	

	700× 2,1
	

	1,8 × 0,5
	

	1,25 × 8
	

	12,4 : 4
	

	0,6 : 5
	

	5,4 : 0,03
	

	0,65 : 1,3
	

	6 - 
	

	3 -  
	














Вариант 2 (Уровень В)
	Пример
	Ответ

	2400 : 60
	

	3600 : 400
	

	60 × 120
	

	1056 – 457
	

	1001 - 232
	

	12,8 + 5,74
	

	12,5 – 5,8
	

	34,6 – 6, 28
	

	 + 
	

	 +1 
	

	3,1 × 200
	

	600 × 4,1
	

	1,6 × 0,5
	

	1,25 × 8
	

	18,3 : 3
	

	0,8 : 5
	

	0,54 : 0,02
	

	0,56 : 1,4
	

	4 - 
	

	7 -  
	



